CO, and the Haber
process

Carbon dioxide is used in many industries
from putting the fizz in fizzy drinks to packing
meat in a protective atmosphere. Most of this
CO, is a by-product of the manufacture of
ammonia using the Haber process. Read the full article at rsc.li/3FtCZOP

The Haber process needs hydrogen gas and this is produced from natural gas in
a two-stage process, which produces carbon dioxide as a by-product. The
carbon dioxide is absorbed in a solvent, leaving hydrogen gas. Later the carbon
dioxide is removed from the solvent and supplied to industry. Recent high prices
for methane caused two Haber process plants in the UK to temporarily shut
down as the process had become uneconomic. This lack of carbon dioxide led
to potential shortages of many products, including fizzy drinks.
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1. Where does the nitrogen gas needed in the Haber process come from?
2. Whatis the ammonia produced by the Haber process used for?
3. Explain why the cost of natural gas can make the Haber process uneconomic.
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Answers:
The air
Makes fertlisers, nitric acid
The increased cost of the natural gas means the cost of the hydrogen needed for the Haber process increases. It also increases the cost of the energy needed for the process. If these costs cannot be recouped by charging more for the product then the product becomes uneconomic.
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